MACHINERY CO., LTD.

ERBRARAE




DENG YU MACHINERY

EEIRE 7L FrpER

RFIEE

ERRFEXBEERS  BIfRARL - BLRSERE - SAI - SFE ~ INCERIIE

CNCSBPUEH ~ CNCEEPIRISRER Bt S - T B (B DRI HEIE - WIRMRBENTS »

UmEEPTSER © (REK  #iK « BR © RE - @ > SIREN=JUTRBRBES—HTT

NBRBTERE SENRSEEREORIRREE (BR) NRE BEELIREEENE WU
o

A &

Purposes DEgGiFZRKRERE - MEHEER - AEMT A
EEEHEE  [EmmANmERNE -
Curvic Couping use for turret of CNC lathe machining center,
robot, gas turbine and airplane,etc.

1.Allowable level load:F

> *%g @‘ /EIJ % High precision measurement o 1F BB,
STERAIKH &ifa . PO12)iq

REHFRABREHE

P(D172)
W-g o129

IRRUEN BT
N-P tan60®

4 Allowable TORQUE: (kgf-mm)
5]

&

. D1+D2
D=1

2.Allowable perpendicular load:W

3.Circular component of force:N(kg)

IACHINERY CO., LTD.

oL

Features

T=P tan60°X(DM/2)=M(DM/2)

o EMFBESLES 101224364060 * 72 * 36065 - BIEZIFHREEETM
We offer all kinds of specifications, including:8T,10T,12T,24T,36T,60T,72T and 360T.

Special orders also acceptable.

o [FRASMSCM415HH » WHTEHZIBINNT# » FEEEHRC58 > MEE ~ SEINE -
Uses SCM415H material. After heat treating the temper remains HRC58*

and it has high rigidity & durable impact force.
o BREBERS  ORitE  KRAEHBERTE -

High accuracy, interchangable and that accuracy remains the same after long term use.

o BTGB - EREE - LIRHIES EEEES

Tooth profile six side acute angles is the bevel edge that causes
the fragments influence precision by against collision.

o EHHEE L3 EEBEELIY -
Indexing accuracy:+3 sec. Repeatability:1 sec.

d T FoEREBERAREK
The relationship between rotary table DIA. and hirth coupling O.D.

TFEER 2300 2400 @500 2630 2800 21000
Roatry table DIA.

HE?S”@ 2250 @320 2400 2450 2600 2800

Coupling O.D.

g LB ERPE

Indexing accuracy explanation

A EERHER

Quality control procedures

Ad3INIHOVIAN NA 9N3A

nE i £
Y8254 High accuracy 5.0° IBE ltem e ek
#B¥5 38 4R Super high accuracy 3.0" N
e
« number of teeth(B.N) More thanoso% More than 90%
5 Tooth EEEN KIR80% K1R90%
Contact
et ] Pk More than 50% | More than 50%
BEEEEE KIR50% KIR50%
N
& Run out on top face
> b e 0.02 001
Tooth outside diameter 0.02 001
200 150 100 Coupling SERE
N
BgE Indexing Accuracy 5 =
1w .
H & Radius(mm) SEmE
Coupling Thickness 010 0.0
RERE * —




[engyu

MACHINERY CO., LTD.

DEBREARURH The index table does not need to be lifted
BEELHIINT Machining heavy works are possible
TIHUIBEA D EER It is preventable for chips to enter into the index table
e TJIRETELE Custiomized manucacturing for specitic purpose is availble

o IR{ERIE » ME—AXEK It's easy to use with division devices for normal purpose
o EFEIRMEES It gives you an advantage of excellent inter change ability

o SHEEERL High accuracy used to dowel

o TJIRETEELE Custiomized manucacturing for specitic purpose is availble

3PCC -

3Pieces Curvic Coupling

2PCC

2Pieces Curvic Coupling

@HE*E%E ;;m@géﬂgg&%%;:\ﬂemmca\ movemeng, » Jf':l GH—E%EEE ;;grggggpﬁ;%gmume g%;i\r\gh%usmg b Nb ﬂ,‘?
2 5
8 s 5 ol
ModeINO.  fuer Oddde neds z0cc ‘ o ModelNO.  ~6c Hnsmr Ouis incse 2
2 e RE_ ces Fixed in bodh 2 e =i ‘sm @ R & ; ==
s — Position V1,V0 by vertical movement i N 5
o . il = o ENIVI VOFEEES#
> Specification 2#=% A BFE Lift Type o » Specification 28x% A JERFHE No Lift Type \fi\T—‘ T?L:‘
gg %g gg E,z; gg gg gg gg — fﬂ&;:x&driﬁol; T;Zxasg::mznzmxf m:jﬂfi,v‘mndmwbo':hole § §§§ - gg %g gg ,?;E 25 gg gg gg - E:E;F:ed bJo:lt‘;nle;Lg Zm;s;m:u;:rgpmnf 1}&;!;’iihvwmdrawbo¢:hnle %55 §§
g = F E z E 5 i = 2 |2 o 2 o Lg o z
3 R e o R € e SR R R 1 g
: Lt H Gl 1 0 Hi= 100 Sl & 2l i 48 I | Em | ® i s 7GR
N | D1/D2|d1| F | H1 |H2 H3|Na o | d2 |d3|dh|Nb| o K |d4| n | o MxP | a | *A N |D1|D2 d1| F | H1 |H2 H3|Na| 8 | d2 |d3 dh Nb| o |K |d4 | n|o| MxP |a | %A
24080-044XV | 24 | 80 | 79 |44 | 8 |1530/12.0 29| 6 |60 | 6.6 |11.0/8.8| 4 |55 30| 6 | 2 60 M8x1.25 0.80| 1.80 1 | 024135080 V1X| 24 (135 - |60 | 18 1875135/ 34| 6 |80 6.6 |11.0/6.0| 4 |80 3001 8 | 2 |80 | M8x1.25 |1.75 1.55
20100-040XV_| 20 [100| 98 | 40 | 9 |1837/140[34 | 6 |60 | 66 [11.0(6.0] 4 |60 30" 8 | 2 |60 | Msx1.25 [137] 122 1 Ivo 24| - 175 - | - |1875/135 34| 8 150 M10 [14.0/85| 4 |150/225" 8 | 2 [150| M8x125 |1.75 1.5
24100-040XV | 24 |100| 98 |40 | 8 |18.30/14.0 34 | 6 |60 6.6 |11.0/6.0| 4 |60 30°| 8 | 2 60 M8x1.25 130 1.15 2 | 024200-120 [V1X| 24 |200| - [120] 20 [21.75/16.5 40 | 8 [140] 9.0 14.0/80| 4 |140/225] 8 | 2 |140| Msx1.25 |1.75] 155
| 24120-060XV | 24 [120|118| 60 | 8 |1830(14.0(34 | 6 [80 | 66 |11.0/6.0| 4 |80 [30'| 8 | 2 |80 | Msx1.25 [130| 1.15 Vo |24 | - 255 - | - 2175165 40 | 10 |224| M12 17.5{10.5) 4 |224/180] 10 | 2 |224| M10x1.50 |1.75| 1.55
30120-060XV | 30 | 120 118 60 | 8 1930140 34 6 |80 | 66 110 60| 4 |80 30°| 8 | 2 |80 M8x1.25 2.30| 200 3 | 030200-120 [V1X 30 |200| - |120 20 2175165 40 | 8 |140, 9.0 14.0 8.0 4 |140/225| 8 | 2 |140| M8x1.25 175 155
36140-080XV_| 36 | 140 138| 80 | 11 [18.52(14.0 34 | 6 [100| 66 [11.0/6.0 4 |100/30°| 8 | 2 [100| M8x1.25 |250] 220 VO |30 | - |255| - | - (2175165 40| 10 |224| M12 [17.5/10.5] 4 |224/1807 10 | 2 |224| M10x1.50 |1.75] 1.55
24160-100XV | 24 160/ 158|100 9 |21.73|165 40 | 8 |118| 9.0 14.0/8.0| 4 |118225(10 | 2 118 M8x1.25 250 2.30 4 | 024250-180 V1X| 24 |250| - [ 180 20 |20.20/18.0 40 | 12|205| 11.0 [17.5/10.0 4 |205/150] 10 | 2 |205] M10x1.50 |0.20] 0.17
24180-120xV_| 24 | 180|178 120| o |21.61/165 40 | & |140| 0.0 [14.0(8.0| 4 [140/225] 8 | 2 [140| msx1.25 |161] 144 Vo |24 | - |300] - | 20 20.20/18.0 40 | 12 270 M12 [17.5/10.5 4 |270|150] 12| 4 |270| M12x1.75 [020] 047
36180-120XV | 36 |180|178(120| 9 [21.37/165 40 8 |140| 9.0 14080 4 140225 8 | 2 140 M8x1.25 137|122 5 | 024270-160 V1X 24 |270| - |160 24 |21.7516.5 40 | 8 |195 11.0 17.510.0 4 |195225| 10| 2 195/ M10x1.50 |1.75 155
40180-120XV | 40 |180|178[120| 9 |21.76/165 40 | 8 |140| 9.0 [14.0/8.0| 4 [140/225] 8 | 2 [140] Mex1.25 |1.76] 157 Vo 24| - |330] - | - |21.75/1655/ 40 | 12|300| M14 20.012.5] 4 |300/1507 12 | 4 |300| M12x1.75 |1.75] 155
24200-120XV | 24 (200 198(120| 9 |2163|165 40 | 8 150, 9.0 |14.0/8.0| 4 |150225| 8 | 2 150 M8x1.25 163|145 6 | 030270-160 V1X| 30 |270| - |160] 24 [21.7516.5 40 | 8 [195] 11.0 [17.5/10.0 4 [195/225] 10 | 2 [195] M10x1.50 [1.75| 1.55
36200-120xV_| 36 |200| 198[120| 11 [21.52[16.5/ 40 | & [150| 9.0 [14.0/8.0| 4 [150[225] 8 | 2 [150| mex1.25 |152] 1.36 VO |30 | - |330| - | - |21.75/165| 40 | 12 |300| M14 |20.012.5] 4 |300/1501 12 | 4 |300| M12x1.75 [1.75] 1.55
13| 72200-120xv | 72 |200 /198|120 | 9 |20.99[16.5 40 | 12 150 9.0 [14.0/8.0| 4 |150225] 8 | 2 |150 M8x1.25 0.99| 0.89 7 |0360270-160 [V1X 360 |270| - |160 10 |20.20/18.0 40 | 8 |220 11.0 17.510.0 4 220225/ 10 | 2 |220| M10x1.50 |0.20 0.17
14 | 24210-135xv | 24 |210] 208135 | 13 [21.71/165/ 40 | 8 [165] 9.0 |14.0/80] 4 [15815°[10| 2 [165| Mex1.25 [1.71] 153 VO [360| - |300] - | 10 [20.20/18.0 40 | 12 [300| M14 [20.0/12.5 4 |300/150( 12 | 4 |300| M12x1.75 [0.20] 0.17
15 | 36210-135XV | 36 |210 208|135 | 13 |21.71/16.5 40 | 8 165 9.0 |14.0/8.0| 4 |15815° 10| 2 |165 M8x1.25 171| 1.53 8 | 024335220 V1 X 24 |335| - |220| 24 2575205 48 | 12 |258 13.0 20.0{12.0| 4 |258/150( 12 | 4 |258| M12x1.75 |1.75] 155
16| 60250-160XV | 60 | 250|248 160| © |21.63/165 40 | & |195| 11.0 [17.510.0] 4 [195225] 10| 2 195 M10x1.50 |163] 1.45 Vo |24 | - 400 - | - |25751205/ 48 | 12[360| 13.0 |200[12.5] 4 |360/1507 12| 4 |360| M12x1.75 [175] 155
17 | 72250-160XV | 72 |250 248|160 | 11 |21.42[16.5 40 | 8 |195| 11.0 [17.5/10.0/ 4 |195225 10 | 2 |195 M10x1.50 142| 1.27 9 | 024425-300 V1 X 24 |425| - |300 28 2675215 50 | 12 |335 13.0 20.0/12.0 4 |335/150| 12 | 4 335 M12x1.75 |1.75 155
w 18 | 360250-160XV |360|250| 248 160 | 7 |20.50/165 40 | 8 [195] 11.0 [17.5/10.0] 4 l195|22.5‘|1o 2 [195| M10x1.50 |0.50| 0.40 VO |24 | - |482| - | - |2675215 50 | 12 |450] 13.0 |20.012.5] 4 |450/1507 12 | 4 |450| M12x1.75 |1.75 1.55
oy 19 | 72280-190XV | 72 |280 278|190 | 11 |21.42[16.5 40 | 8 |222| 13.0 [20.0/12.0| 4 |222[225] 10 | 2 |222] M10x1.50 142| 1.27 10 | 060425-300 V1| 60 |425| - [300| 28 |26.75/21.5 50 | 12 |335| 13.0 [20.0/12.0| 4 [335/150] 12 | 4 [335] M12x1.75 [1.75] 155
= 20 | 360280-190XV | 360280 278|190 | 8 |2060/16.5 40 | 10 [222] 13.0 |20.0/12.0| 4 |222/225]10 | 2 [222] M10x1.50 |060] 050 VO |60 | - 482 - | - |26757215/50 | 12[450| 13.0 |20.0{12.5| 4 |450/1507 12 | 4 |450| M12x1.75 |1.75| 155
21| 60320-210XV | 60 |320 318|210 11 30.46/25.5 58 | 12 258 13.0 [20.0[12.0) 4 258/ 15°|12 | 4 258 M12x1.75 1.46| 1.30 11| 072425-300 VAX| 72 |425| - 300 28 |26.75(21.5 50 | 12335 13.0 [20.0/12.0 4 |3351501 12 | 4 335 M12x1.75 |1.75| 1.55
22| 72320210XV | 72 |320|318/210| 11 |30.74|265| 58 | 12 258| 130 [200|120| 4 [258| 15" 12 | 4 |258] M12x1.75 |174] 155 Vo |72 | - |482] - | - [2675/215 50 | 12 [450| 13.0 [20.0/12.5 4 |450/150( 12 | 4 |450] M12x1.75 |1.75] 155
23 | 360320-210XV | 360 320 318|210 11 [20.60(255 58 | 12 |258] 13.0 20.0[12.0] 4 258/ 15|12 | 4 |258 M12x1.75 060| 0.50 12 | 0360425-300 |V1.X|360 | 425| - [300| 20 |26.00/21.5 50 | 12 |335| 13.0 [20.0/12.0] 4 [335/150] 12 | 4 [335] M12x1.75 [1.00| 0.90
24| 36400-280xV | 36 |400| 398|280 | 15 |31.52[26.0{ 60 | 12 [335| 13.0 |20.0/12.0] 4 [335/ 15" 12| 4 [335] M12x1.75 152 136 Vo |360| - |482 - | - |26.00215/ 50 | 12[450| 13.0 |200[12.5] 4 |450/1507 12 | 4 |450| M12x1.75 [1.00| 090
25| 60400-280XV | 60 400|398 280 | 15 |31.82(26.0 60 | 12 [335| 13.0 [20.0/12.0) 4 [335/15"[ 12| 4 335] M12x1.75 1.82] 162 13 | 024540415 V1X| 24 |540| - |415| 32 |29.25/24.0 55 | 12 |450| 13.0 |20.0/12.0| 4 4501501 12 | 4 |450] M12x1.75 |1.75| 1.55
26 | 72400-280xv | 72 |400] 398|280 15 [3152[26.0[ 60 | 12 [335] 13.0 |20.012.0] 4 [335/15'| 12| 4 [335] M12x1.75 152 136 vo |24 | - [e0a| - | - |2025240 55 | 12[570| 17.0 [260/1655 4 |570[150 12| 4 |570| M12x1.75 |175] 155
27 | 360400-280XV | 360 400 398|280 | 15 3060260/ 60 | 12 335 13.0 20.0/12.0 4 335 15"| 12 | 4 335 M12x1.75 |060| 0.50 14 | 060540415 V1X| 60 |540| - |415| 32 |29.25/24.0/ 55 | 12 |450| 13.0 [20.0/12.0| 4 |450/150] 12 | 4 |450] M12x1.75 |1.75| 1.55
28 | 36520415XV | 36 520 518|415 15 |31.97(26.0{ 60 | 12 |450| 13.0 |20.0/12.0| 4 |450/15'|12 | 4 450 M12x1.75 [1.97] 1.76 Vo |60 | - |604] - | - [29.25/240 55 | 12 [570| 17.0 [26.0/16.55 4 |570/150]12 | 4 [570| M12x1.75 [1.75] 155
29| 72520-415xV | 72 |520| 518|415 15 [31.97|26.0 60 | 12 |450] 13.0 |20.0[12.0] 4 450 15'|12 | 4 |450 M12x1.75 197| 1.76 15 | 072540-415 V1X| 72 |540| - |415| 32 29.25/24.0 55 | 12 |450| 13.0 |20.012.0 4 4501501 12 | 4 |450] M12x1.75 |1.75| 155
30 | 360520-415XV | 360 520 518|415| 15 |30.80(26.0 60 | 12 |450| 13.0 [20.0{12.0) 4 [450| 15| 12 | 4 |450| M12x1.75 0.80| 0.70 Vo |72 | - |604| - | - 12025240 55 12570 17.0 26,0165 4 |570[150] 12| 4 [570| M12x1.75 [175] 155
31| 60600-480XV | 60 600 598|480 15 |36.95(20.0/ 70 | 12 |530| 17.0 26.0/16.0 4 53015 12| 4 530 M12x1.75 1.95| 1.74 16 | 0360540415 |V1X|360 | 540| - |415| 24 |29.00/24.0/ 55 | 12 |450| 13.0 [20.0/12.0| 4 |450/150] 12 | 2 [450] M12x1.75 |1.50| 1.40
32 | 72600480V | 72 |600 598|480 | 19 37.28/20.0 70 | 12 |530| 17.0 [26.0[16.0| 4 [530|15'[12 | 4 |530| M12x1.75 228|204 VO (360| - |604| - | - |29.00/24.0| 55 | 12 [570| 17.0 [26.0/16.5 4 |570/150{12 | 2 |570| M12x1.75 [1.50| 140
33 | 360600-480XV | 360 600 598|480 | 15 |36.0029.0 70 | 12 |530| 17.0 [26.0/16.0| 4 |530| 15| 12 | 4 |530| M12x1.75 |1.00] 080 KA ARAASHAELMA + & A B RO - 5T % 7% « We reserve the right to modify our products, ol specifcations and designs are subject o change without any nofice
34 | 72700560xV | 72 |700|698|560 | 19 |36.70[26.0 70 | 12 |610| 17.0 |26.0[16.0| 4 \610]15'\14 4 |610| M12x1.75 [1.70] 150
35 | 360700-560XV | 360 700 698 560 19 |36.00/20.0/ 70 | 12 610| 17.0 |26.0/16.0) 4 610 15" 14 | 4 |610 M12x1.75 1.00| 0.90
36 | 72800660V | 72 |800| 798|660 19 |39.20(32.0] 75 | 18 |710| 17.0 [26.0[16.0] 4 [710]10'[14 | 4 [710] M12x1.75 [1.70] 150
37 | 360800-660XV | 360|800 798660 | 19 [38.26/32.0 75 | 18 |710] 17.0 |26.0/16.0] 4 [710/10°| 14| 4 [710] M12x1.75 |0.70] 068
72900-740XV_| 72 900 898 345 80 | 18 17.0 4 18001014 | 4 |800| M12x1.75
360900-740XV | 360/ 900 | 898 34580 | 18 800/ 17.0 4 800 10° 4 800 M12x1.75




IACHINERY CO., LTD.

ZE d ¥ Bl

/IS =RiESE

L %

“RilEtSE

Curved clutch installation diagram

BN S AR
BB SR

DENG YU MACHINERY
Ad3INIHOVIAN NA 9N3A

WP\]EQ m,Jﬁw‘EE’iﬁ

=HREEE =REtEE

EISS=RTEAES

~



AEEBIERRERTE mEsEg. e
EEMIFROE  BBEHEE  SRERMEEY

Deng

MACHINERY Cd., LTD.

=,

Curvic Couping use for turret of CNC lathe machining center,

robot, gas turbine and airplane, etc.

EHHMWERL T

DENGYU MACHINERY CO., LTD.

Y L T T e (s g [w]

No. 59, Ln. 519, Sec. 2, Guofeng Rd., I
Fengyuan Dist., Taichung City 420073 , Taiwan
Tel:886-4-25620502 Fax:886-4-25620503 E
http://www.deng-yu.com



